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QUESTION 1

Which statement about application-period temporal tables is true? 

A. Consists of explicitly-supplied timestamps and a separate associated history table. 

B. Is based on explicitly-supplied timestamps that define the time periods during which data is valid. 

C. Is useful when one wants to keep both user-based period information and system-based historical information. 

D. Consists of a pair of columns with database-manager maintained values that indicate the period when a row is
current. 

Correct Answer: B 

 

QUESTION 2

What is the purpose of a role? 

A. To define exactly what a specific user can do within a particular database once they have been authenticated. 

B. To group a collection of privileges together so that they can be simultaneously granted to and revoked from multiple
users. 

C. To establish a credible relationship between DB2 and an external entity, such as a database administrator or a
middleware server. 

D. To group a collection of users together so that they can be simultaneously granted and revoked specific authorities
and privileges. 

Correct Answer: B 

 

QUESTION 3

If the following command is executed: CREATE DATABASE test What is the page size (in kilobytes) of the database? 

A. 4 

B. 8 

C. 16 

D. 32 

Correct Answer: A 

 

QUESTION 4

Which statement will prevent concurrent application processes from performing anything other than read- only
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operations against a table named TAB1? 

A. LOCK TABLE tab1 IN READ MODE 

B. LOCK TABLE tab1 IN SHARE MODE 

C. LOCK TABLE tab1 IN EXCLUSIVE MODE 

D. LOCK TABLE tab1 IN READ-ONLY MODE 

Correct Answer: B 

 

QUESTION 5

When a user-defined function (UDF) is created and no schema is specified, what schema is used to store the UDF? 

A. The SYSIBM schema. 

B. The SYSFUN schema. 

C. A schema with the name of the UDF. 

D. A schema with the userid of the UDF definer. 

Correct Answer: D 

 

QUESTION 6

Which DB2 object is associated with PREVIOUS VALUE and NEXT VALUE expressions? 

A. View 

B. Table 

C. Sequence 

D. Identity Column 

Correct Answer: C 

 

QUESTION 7

Which operation normally does NOT require an exclusive lock? 

A. BIND 

B. DROP 

C. GRANT 

D. SELECT 

Latest C2090-610 Dumps | C2090-610 PDF Dumps | C2090-610 Braindumps                                3 / 6

https://www.pass2lead.com/c2090-610.html
https://www.pass2lead.com/c2090-610.html
https://www.pass2lead.com/c2090-610.html


https://www.pass2lead.com/c2090-610.html
2023 Latest pass2lead C2090-610 PDF and VCE dumps Download

Correct Answer: D 

 

QUESTION 8

Which database object provides an alternative way of describing data that exists in one or more base tables? 

A. Alias 

B. View 

C. ndex 

D. Sequence 

Correct Answer: B 

 

QUESTION 9

Which statement about roll back operations is correct? 

A. When a ROLLBACK statement is executed, all locks held by the terminating transaction are released. 

B. When a ROLLBACK TO SAVEPOINT statement is executed, all locks acquired up to the savepoint are released. 

C. When a ROLLBACK TO SAVEPOINT statement is executed, all locks acquired after the savepoint are released. 

D. When a ROLLBACK statement is executed, all locks acquired for open cursors that were declared WITH HOLD, are
held. 

Correct Answer: A 

 

QUESTION 10

Which case will require a sequence to be dropped and recreated instead of being modified by the ALTER SEQUENCE
statement? 

A. Change the data type of the sequence. 

B. Reset the sequence to its starting value. 

C. Establish new minimum or maximum values. 

D. Change the increment between future values. 

Correct Answer: A 

 

QUESTION 11

What are INSTEAD OF triggers used for? 
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A. To update data in other tables. 

B. To perform insert, update, and delete operations against complex views. 

C. To check or modify values before they are actually stored in a database. 

D. To run non-database operations that are coded in user-defined functions. 

Correct Answer: B 

 

QUESTION 12

A column mask that is to be used for row and column access control (RCAC) was created with the DISABLE option
specified. What must be done if this mask is to be used to restrict access to data stored in a table named EMPLOYEE? 

A. The column mask must be enabled; the EMPLOYEE table must be altered to activate column access control. 

B. The column mask must be enabled (column access control for the EMPLOYEE table will be activated automatically). 

C. The EMPLOYEE table must be altered to activate column access control (the column mask will be enabled
automatically). 

D. The EMPLOYEE table must be altered to activate column access control; row permission must be granted to
everyone who needs to use thecolumn mask. 

Correct Answer: A 

 

QUESTION 13

Which type of temporal table can be used to store only time-sensitive data? 

A. Bitemporal 

B. Time-period 

C. System-period 

D. Application-period 

Correct Answer: D 

 

QUESTION 14

If a table named MY_TAB contains 100 rows and the following statement is executed: 
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How many rows will be updated? 

A. 0 

B. 1 

C. 10 

D. 99 

Correct Answer: C 

 

QUESTION 15

Which statement about foreign keys is true? 

A. A table can have only one foreign key. 

B. Foreign keys can only be defined when a table is created. 

C. A foreign key can be defined on a column or a set of columns in a table. 

D. Foreign keys are enforced only during the execution of INSERT statements. 

Correct Answer: C 
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